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General Instructions :
(i) There are 29 questions in all. All questions are compulsory.

(ii)  Marks for each question are indicated against the question.

[P.T.O.


http://www.4ono.com

32/1/1

(iii))  Questions from serial number 1 to 10 are 1 mark questions. Answers
of these questions may be from one word to one sentence each.

(iv)  Questions from serial number 11 to 18 are 3 marks questions.
Answers of these questions may be given in 60-80 words each.

(v)  Questions from serial number 19 to 28 are 4 marks questions.
Answer of these questions may be given in 80-100 words each.

(vi)  Question No. 29 is on map work. Attach the map inside your answer
book. .

T 539 :
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Mention the proclamation of the French Revolution.

Or

When did Vietnam gain formal independence ?
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Who invented the first printing press ?

Or

‘What was the notable event of 1836, regarding novels ?

TEe TSI e w1 aAfarsshr fopem fopa ?
gt

o=t o Heel ¥ 1836 Y wecaqot we @ off ?

Classify resources into two groups on the basis of their origin.

Jeaftl o STTER T FETEHT 1 &1 a1 § aiigha ehifory |

Mention the sowing period of Kharif crops.

EUE &1 GHAT Bl S T 31 1 Jooi@ HIfSU)

What is the traditional system of rain water harvesting used in Rajasthan ?
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Name the industry which uses limestone as its main raw material.
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10.

11,

12.

32/1/1

Name any two subjects which are included in the Union List. V=1

i g 7 v e & orwdt 3 s

Define the term ‘Federalism.’ 1

‘gHaTe’ wTeE h1 aResTeT e |

What is the criteria used by World Development Report 2006 for

classifying countries ? 1

33T 1 arfiehd o & o fova faemma fdid 2006 3 fora wTUgUE 61 39— foRam
27

In which two different forms do we participate in the market ? Yatlo=1

o 31 Tafere =9t 4 aem d ga wrfied 2rdi 2 ?

Explain any three features of Napoleonic Code. 3x1=3
Or
Why was conflict started in Vietnam against French colonizers in all areas
of life ? Explain. 3
SifeTa Sl ARG, Higan i fohegl diF farearati sl T i |
3gar

a4 wiHid Nufas e & faars siea & 8 O W 2E #490
TRE g3 ? T8 i

Analyse the role of merchants and the industrialists in the Civil

Disobedience Movement. 3x1=3
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13.  Study the given passage and answer the questions that follows :

‘In earlier times, foreign trave.llers in India marvelled at the courage,
truthfulness and modesty of the people of the Arya Vamsa, now they
remark mainly on the absence of those qualities. In those days Hindus
would set out on conquest and hoist their flags in Tatar, China and other
countries; now a few soldiers from a tiny island far away are lording it over
the land of India.’

Tarni Charan Chattopadhyay, Bharathasher Itihas. (The History of
Bharatvarsh) Vol. 1.1858

(13.1) Mention the qualities of ‘Arya Vamsa’ that were admired by the

foreign travellers in earlier times.

(13.2) How did folklore help in the spread of nationalism amongst the
Indians ? Explain. 1+2=3

fau 0 =R 1 sreaT Hifvy SR 3us 9 fow o weHl 3 3 i
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o | TS U &% ¥ E19 o = FHTet Wi i T e R gu E |

AR TX0T TSI, TRATS e (YRaay &1 3fdetd) @UE 1, 1858
(13.1) OH S § foQeft ante gro sl a9 o Tun Y, S T T w6

3@ i |
(13.2) WRAATEET o = qgare & fo=r &l Seim | elersnaia 3 fre TR
733 hl ? T8 HifvY |
14.  How did print culture develop in Europe ? Explain. 3x1=3
Or
40/0@
32/1/1 5 [P.T.O.



Explain any three features of the early Bengali novels.

T H Y31 §EHfd 1 fahe fora TR g ? v i

3x1=3
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15. How do the social divisions affect politics ? Explain giving example of
Northern Ireland. 3

TS A= T i R TR gaTfad s 8 7 390 STRE 1 I3
ad gu wE i |

16. Explain any three factors which are responsible for breaking down the old

notions of caste hierarchy. 3x1=3
STTfel e o U &Y | S5aTd o Tl foheal i ShIehi sl T8 IS |

17. Study the data given below in the table and answer the questions that
follow : ]+2=3

Some Comparative Data on Punjab, Kerala and Bihar

Infant Mortality : Net Attendance
Literacy Rate :
State Rate per 1,000 (%) (2001) Ratio for Class I-V
(2003) i (1995-96)
Punjab 49 70 81
Kerala 11 91 o1
Bihar 60 47 41

(17.1)  Which state has the highest infant mortality rate ?
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(17.2) Why has this state the highest infant mortality rate ? Give two

reasons.

=t &t 77 arferent H SRS w1 e hitse 3R U 7T Tt 3 3w i :

AT, e 3R FER & o gt Aiene
q 5% e
Rrggg @ Aid | e E (%) EB&“%I -
e 1,000 ==ftk (2003) (2001) S
(1995-96)
EEIE] 49 70 81
e 11 91 91
feren 60 47 41

(17.1) orm T 1 f3rg] og R waiferr 2 7
(17.2) wmﬁﬁmmamﬁa@ﬁ%?a‘rwaﬁm

Note : The following question is for the Blind Candidates only; in lieu of
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Q. No. 17.

Define the following terms :

(17.1)
(17.2)

Infant mortality rate

Literacy rate

(17.3) Net attendance rate

ate ;. ffafad g waa giedia whente < o s @@ 17 % e w |
Frafaftaa aifanfyes et it wftam Sfse:
(17.1) RYIgR

(17.2) WERAT R
(17.3) o 3ufeda srgum
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3x1=3
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18. Why are rules and regulations required for the protection of consumers

interest in the market place ? Explain two reasons. 1%+1%=3
ISR IuwreEreTt o et i gren & fou Fraw wa ot i savesma =i
eft B 7 2 o wqw Aifsu

19.  Explain the role of technology in flourishing the trade during the late

nineteenth century. ' 4
Or

Why had Indian cotton export market collapsed and the local market shrank

in the beginning of nineteenth century ? Explain. 2+2=4
Or

Eixplain with examples how has industrialization changed the form of
urbanization in England, in the modern period. 4x1=4

Stod |t & if<m w0 § SR F we-Fod § Wikt 2 st Wy
hifs |

rerat
Il Hel o YR | WA FUST HATd SR i1 e g3t 3R T AR
w1 g @ ? wam Fhifs |

arerat
Y A | SR A TS T e o &Y I fohel JHR a8
ez 7 seTeont wfed T iU |

20.  Analyse any four reasons for the depletion of forest resources in India. 4x1=4

TR | 39 G191 o g o fohel I Sro 1 faveiyur Shifs |
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21.

22,

23.

24.

25.

26.

27,
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Explain any four reasons responsible for water scarcity in India. 4x1=4

T T STeT ohl §eral o STRaTl fohegl =X hTEuTl ol T98 hiwig |

Write any four characteristics of Kandla sea port. 4x1=4

SFiEer T T A = A ffa

Examine any four reasons for strained relationship between the Sinhala and

Tamil communities. 4x1=4
fogell o afna wgamt & o= fared awryl & ol =) wmron Y adftan
i |

Describe in brief, any four features of movement for democracy in
Nepal. 4x1=4

AT | Sehad o o7 3Tierem ot foredl TR fermanet o1 wag o gufq Hifsg

“Democracy is better form of government than other forms of

governments.” Justify the statement. | 4
RS TR SR 3 T SEEisti ¥ S 217 I® HeH w1 hfad

Give four reasons for the rising importance of tertiary sector in India. 4x1=4

WA | ol &1 o I¢d Hgcd o ol = SR FaTs |

How does the use of money make exchange of things easier ? Explain with

examples. 4

Y31 o 39 4 Fg-fafm w5 fRe ywr e s e # 7 seen afga we
hifsry |
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28.  Explain the role of technology in stimulating globalization process. 4

Jeeiertur 1 wifsha i Icifa A | TRt i yjfier it smen fifm

29.  Six features with serial numbers (i) to (vi) are marked in the given
political outline map of India. Identify these features with the help of the
following information and write their correct names on the lines marked in

the map. 6x1=6
(1) The place of peasants Satyagraha in Gujarat .
(11) The place where Indian National Congress Session was held in

1927.

(iii) Tea producing-state

(iv) The iron-ore mine

(v) The coal mine

(vi) The terminal station of National Highway No. 7.
Or

Locate and label the following on the given political outline map of
India : 6x1=6

(1) Chauri Chaura

(i1) Amritsar

(1) ~ Tungabhadra — Dam

(iv) Talcher — Thermal Power Station
(v) Indore - Software Technology Park

(vi) Kandla — Sea Port
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feu o v & TEr-aEfaE § E9E (1) ¥ (vi) B0 0 SAfha i 1E g1 = &g
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@) a1 -=1
(i) TR
(i) — gE - Y
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Note : The following questions are for the Blind Candidates, in lieu of
Q. No. 29. 6x1=06

(29.1) Name the place, where the peasant’s movement was started in
Gujarat.

(29.2) Name the place, where Indian National Congress Session was held
in 1927.

(29.3) Which is the leading tea producing state in India ?
(29.4) On which river Tungabhadra dam is built ?
(29.5) Where is the Software Technology Park located in Rajasthan.

(29.6) Name the nuclear power station located in Tamil Nadu.

Az At T Fae gieE uderterat & foe Jo7 9 29 % TH W R

(29.1) 39 TAM 1 8 FATEY, ST&l o0 H FFEM STeTeH T& 31 91|

(29.2) 3@ T o1 T8 SA1SY, &l 1927 H YA T il =1 rfeEe
g AT

(29.3) 9RA | I T I IATGH TSI HHA AT E 7
(29.4) g Ty A TR IR ?

(29.5) TrSTer o Higeaaw Frenfieh! ureh wel fera 2 7
(29.6) afferTg & fera smorfares wifth e 1 19 SaTEU |
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Q. No. 29

Outline Map of India (Political)
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